Interventions-2
Quelle est votre enchére en Sud avec les mains suivantes ?

9 +DX2 Vulnérable 10 . ADS85 Vulnérable
v AR752 Personne ¥ R52 Personne
¢ D85 ¢ R85
& D3 & R74

S (@) E S (@) E
1a 1a
? ?

11 +A52 Vulnérable | | 1@ & AV985 Vulnérable
¥ R852 Personne ¥ RS Personne
¢ ADX63 ¢ RV2
&6 & RV2

S (@) E S (@) E
1 1a
? ?

13 + ADX Vulnérable | | 14 & D2 Vulnérable
¥ R52 Personne ¥ RVX Personne
¢ AV98 ¢ AD852
& DX6 & AV3

S (@) = S (@) =
1 lv
? ?

18 +RVX85 Vulnérable 1€ +\5 Vulnérable
¥ R8 Personne v R87 Tous
¢ AD3 ¢ RV8
& AVX & RV632

S (@) E S (@) =
lv 1e




